PAT.
S MART G RI P Quick Change Work-Holder System

The fixture creates the new machining process.
7
> A highly rigid work-clamping fixture developed for both —[ :
5-axis machining centers and multi-surface machining with | |

ANGLE HEAD ‘

3-axis machining centers (with a rotary table)

Dovetail Work-piece
clamp ~
Work
holder
HSK -
Interface -~
: 3 Head

Small- and Medium-size Enterprises

29 Award for Excellence in New Innovative
Awa:’:,} Technologies and Products

The Resona Foundation for Small and Medium

N' ﬂ Enterprise Promotion and The Daily Industrial News

Multi-surface machining

Process integration on a 3-axis machining center with a rotary table and S-axis machining center

5-axis

machine

Clamping
force

Automated
robotic
work-piece
changing
system

M/C Tool

General Purpose | HSK-T Tooling Systems
for Turning Mill

‘ Wire EDM fixture ‘ Maintenance Tool ‘ Measuring ‘

Technical

75

Tool

Equipment

Information



ANGLE HEAD ‘

M/C Tool

HSK-T Tooling Systems
for Turning Mill

General Purpose
Tool

Measuring
Wire EDM fixture Maintenance Tool Equipment

Technical
Information

~
(o}

Clamping force

Avoids interference

Quick change

Off-line set-u

p Minimizing machine downtime.

® You can start machining the next

work-piece quickly when it is mounted

in a work holder in

® The machine runs continuously, so
you can maximize the machine

utilization ratio.

Repeatability

advance.

<— Concentricity 2umiL

Z-axis direction 1um

L

|

t

HSK63

AT T T T T

Dovetail
clamp

interface
HEAD WORK HOLDER

Machining
75%

TN 01-03mmp

|
225

Clamping 5-sec. Unclamping 5-sec.

® Easy operation - just mount the work holder on the
head and tighten with a wrench.

Machining
1009%

Rotation direction

T
|

S -
i

HSK (2-face clamping interface) and dovetail clamping

Maximum cutting force

(N)

16000

14000

\

12000

\

10000

8000

6000

4000

2000

\ HSK-A100
N\
\EEAN
\ \\ HSK-A6 \‘\
\ \E 2
\ HSK-A40
% \\\‘

0

WORK HOLDER

50 100 150 200

250

300
(mm)

The fixture(work-holders and heads) design has much smaller than the work-piece.

No alignment by experienced workers required.

L=3XD D L
A40 40 120
A63 63 | 190
A100 | 100 | 300

If necessary, please
off-set the rotational
direction using a
touch probe.

BLUM high-accuracy
touch probe




Supports various work-piece shapes

‘Flange clamping -
orholder ©P79

=pr

e Dovetail vise clamping
work holder ©P.79

e Side-screw clamping
work holder ©P.80

e Collet holder

Manual interchange
Manual Clamping Head

You can clamp and unclamp
the work holder using a
T-handle wrench.

©P.78

| Automatic interchange

| Automatic Clamping Head OP.81

HSK-A40
HSK-A63
HSK-A100

The hydraulic clamping design
allows you to combine your
machining centers with robots
to create a fully-automated

Machine table

Direct-mounting type

on the machine table
Direct-mounting © P.80

v

dsb -

Provides a larger machining
center machining area.

plate "

”#

h X3
e
\.’-"ih’

-.MST

ANGLE HEAD ‘

M/C Tool

HSK-T Tooling Systems
for Turning Mill

General Purpose
Tool

Measuring
Equipment

‘ Wire EDM fixture ‘ Maintenance Tool ‘

Technical
Information

T



ANGLE HEAD ‘

M/C Tool

HSK-T Tooling Systems
for Turning Mill

General Purpose
Tool

Measuring
Equipment

HEAD

The Manual Clamping Head (Manual exchange)

HSK-A100 |-

D1 [ I
—— i L1
: - HOption
Interface L ‘ ¢D1 L1 G ‘ P.C.D. (:Ioi?ep(:(:)g e Mounting plate
B Std access.
F100H21-A40 - 50 Hsk-A40 50/100| 25| M 6%x30| 55~ 85| 10 1.7 eT-handle wrench ® Mounting bolt x 4pcs.
HENote
F1 25H34-A63 - 70 HSK-AB3 70125/ 30| M 8x35 | 80~100] 20 38 e A manual clamping hole on the work holder is
F200H53-A100-110 Hsk-A100 [ 110|200 |50 | M12%x50 |125~160| 30 14 required for mounting.

CODE Interface | T | 4D |¢H| G Gz | G| PCD R
F160H32-A40 HSK-A40 |20[160|32 (M 5X20|M 6X20|M 6| 80~125/2.6
F200H32-A40 251200 M 8X25|M10X25 100~160|5
F160H50-A63 HSK-AB63 |20 [160|50 (M 5X20|M 6X20|M 6| 80~125/2.4
F200H50-A63 251200 M 8X25|M10X25 100~160/4.7
F250H50-A63 30[250|50|M10X30|M12X30|M12 |140~200|9.4
F250H80-A100 |HSK-A100|30[250|80|M10X30|M12X30|M12 |140~200|8.7

Please use a mounting plate if the fixing hole of the head doesn't match with a T-groove on the
machine table. Also, we can make a custom-designed mounting plate for you if necessary.

4-GiPC.D

! =

| Automatic Clamping Head P81

WORK HOLDER

Dovetail clamping work holder

A63-DOC25-65

‘ Wire EDM fixture Maintenance Tool ‘

Technical
Information

]
(o]

Dovetail grooving a work-piece

Dovetail grooving of the work-piece clamping area using
an angular cutter is required prior to machining.
After machining, cut off the dovetail of the work-piece.

Angular cutter
For more information, please contact us.

A40 -DOC 17.5-55 55 | 25 | 30| 175| 2 |M5| 4 | 04 Details of dovetail dimensions
-DOC 25 -55 28 | 40| 25 3|M6| 5 0.6 s SW(Width) "
-DOC 35 -55 25 | 50| 35 0.7 ™| - 0"
-DOC 50 -60 |60 |30 70/ 50 | 5 |mM8| 6 | 1.2 == /m
A63 -DOC 25 -65 | 65 27 | 40| 25 3/M6] 5] 1.2 SD(Depth)
-DOC 35 -65 50| 35 1.3
-DOC 50 -70 |70 | 30| 70| 50 | 5 |mM8| 6 | 1.8 Holdertyps | W | H | P | SW | SD
DOC 17.5 17.5 25 2.5 4 2
-DOC 70 -75 | 75 | 35 |100| 70 Mio| 8 | 3 DoC 25 5 1 35 s 125
A100-DOC 35 -70 70 | 27 | 50| 35 3/M6| 5 | 33 DOC 35 35 5.5 8
-DOC 50 -75 | 75 | 32 | 70| 50 5|/M8| 6 | 38 DOC 50 50 | 55| 9 10 | 4
-DOC 70 -75 35 [ 100| 70 M10| 8 | 5 gg&;g 1;8 — 122 12
-DOC100 -85 | 85 | 40 | 140|100 | 10 |M12|10 | 7.7 '

-.MST



FE=NERTHXR

Fig. 3

=MIMRERE
Origes
@xzigk
Oy

¢D1 | ¢D2 | ¢D3 | ¢d

A40 -FP40 -35 | 3 [35] 40[ 32 — [ —J25[12] 4 [Max 6] — [ —T—]—M 6x15[M4x 8/0.3
-FP63 -40 | 2 | 40 | 63 50 0050 M5 55 M 6x20 0.5
A63 -FP63 -45 | 3 [ 45| 63|50 — | —[40[13] 5 [M5x 8] — | — | —] — | MI0x20 [M6x10|0.9
-FP85 -50 | 2 | 50 | 85 73 005 M6 6.6 M10%25 1.2
-FP110-55 | 1 | 55 | 110 95 M6x9 |M 8 9 | M10x30 1.7
AT00-FP100-55 | 3 |55 |100]/85 | — [ — 7017 ] 7 [M8x12] — — | — [ = [ M12x25 [M8x16] 3.0
-FP130-65 | 2 | 65 | 130 115 6050 M8 9 M12x35 4.2
-FP160-70 | 1 | 70 | 160 140 M8x12 [M10 11 | M12x40 5.3
TR mEWS
oHMEL (G ) X14 o EEIEK (G2) X64 oM oBHE
o M6 FEFR/INEIZH( SLEBIRAMB) X649~ (AB3-FP85-50 / A63-FP110-55) mEE
KTEEFI—REIME Kkt o IR (G) ¥ THE B ABRS L Ae g 7 R MR (Go) T Bl
BAESEHRITHROEMRER.
—— . T# | mE*®
s =D Bs N@EB | ¢D4 | ¢Ds| h o 5 AL MR (G ) K T2 E o OB AL M,
B T+ | EERE (G) IR15-A40 FP| nsc-A40 | 150,,| 25 | 15 |0.05|  WEEIMEG)ARERL(G)HTEE.
T e | BB IR25-A63 FP | Hsk-AB3 | 2500.3| 40 | 16 |0.1 -
TxE : J R EL(Gy) IR40-A100FP | Hsk-A100 | 40 §o39| 70 | 20 |0.5 IR25-A63FP
NE THRERT, B E RS S P It Fig. 1 ARG
BRIV TR SR 2D, ] B3 [ EsiG)
ROMIBF i R
1
TekA N e
~ GE=iEEIHEA) _vd ;
RS-AB3-A40 i |
— = o smmesen
e HEHIHEE |Fig.| ¢D |¢D1|¢d|Hi |H2| H| Ti Gi1 G2 Gs ‘
RS-A63 -A40| A63 -FP 63-45| 1 40 | 32 | 25|12 | 4 |50 |M4x6|M 6x20|M4x 8 M5x16| 0.5
-FP 85-50 +0.064
-FP110-55 +0025
RS-A100-A40 | A100-FP100-55| 2 40 | 32 | 25|12 | 4 |60 |M4x6|M 6x20 (M4x 8 M8x25| 1.5
-FP130-65 +0.053
-FP160-70 +0020
RS-A100-A63 | A100-FP100-55| 1 63 | 50 |40 |13| 5 |55 |M5%x8 | M10x20 [M6x10| M8%25| 1.7
-FP130-65 +0.053
-FP160-70 +0020
miFERER mEE
:;géf—!;(g)f;g; o REMRIE(G2)X 31 o LRI (G W TH R E. MBBL IS, AR AR AR ERL (G TR R
3 3 I

e EAERH TR R
Fig. 1 F S~ Fig. 2 ‘ +

gk

IR TI

TE4EHL R R T4 EHEEMIRCRAHSK-TTIH ‘

ME

#ipRFIA

w

,-E:H w E 00 4% 000 12
e[, (e i [ %
‘ o|lle|lle|lle| |90 |110 T —}%@:omot 15¢42 os HE
Lﬂ | Sl L] 055 9lo35o] =
| sl tetts F Lm =
L L (4.5) i ‘L_J—x B
L3 20 ) ) L 3 15[, \G i)
A63-DOVIO0 L g T 25X (HHE-1) AB3-DOV1101 L £

|Fig.‘EIS E&‘ B ‘ w ‘ G (&%) ‘ L ‘ oo R HEGMIST
*8mmARBRF ETF RGNS R E R,
ABG3 -DOV 90 | 1 | —] 3 | 9012~ 73[20-M4(6) | 85]35|3.8|m&z %
1101 | 2 1110 — | — [36~ 80/24-M8(10) | 90|35 |5.7| eMIMEEHEELHLMIKRM. e
A100-DOV140 | 1 | — | 5 14012~ 73 30-M4(6) |100]|35 7.7 LEWZEERAD. *K\\
T e fMEREERIED.
1401 | 2 [140] — | — [36~110[52-M8(10) |100|35[9.9| esHREE=ERREY 0BT

-.MST



Side screw clamping work holder

H

i =
Fig. 1 Fig. 2 ¢C 1
9( - ) EvE\‘EIWmeofwork.mem
g I:J ,,,,,,,, L
i - g 5% | - — L
| 6050 i O i
o ﬁ_ N }
L G3(Adjustment screw)
- 9
A63-SCS10-55 A63-SCD30-70
EStd access.
® | arge screw(G1) x 2pcs.
E A40 -SCS10-40 1 5~10|13 18613040 | 11 |39 |45 — | — | M 6%X10 — M 6 0.5
Q -SCD20-55 2 |15~20| — — — |55 13049 25|11 | — | M 8x16 M4 M10 0.5
= A63 -SCS10-55 1| 5~10/20 |235|50 |55 |21 |62|75|17| — |[MIOX15| M5 M10 1.1
-SCS20-55 15~ 20|25 28.5
-SCD20-65 2 |15~20| — - — | 6513049 25|11 | — | M 8x16 M4 M10 1.2
-SCD25-70 20 ~ 25 70 | 35 | 56 | 30 8 | 20 1.3
-SCD30-70 25~ 30 44 | 62 | 35 9 | 24 | M10%x20 M5 14
-SCD40-85 35 ~ 40 85 | 52| 76|45 | 12 | 30 | M12x20 M6 1.9
2 A100-sCS20-70 1 ]12~20/295[34 |80 70|26 |99 | 9|20 | — |M12x20| M5 | MI12 | 36
%E -SCS30-70 22 ~ 301|345 39
‘{’:ga -SCD20-70 2 |15~20| — — — 7013049 |25 11| — | M 8x16 M4 M10 3
%'é -SCD25-75 20 ~ 25 75 | 35 | 56 | 30 8| 20 3.4
'9'3 -SCD30-80 25 ~ 30 80 62 | 35 9 | 24 | M10x20 M5 3.5
:%8 -SCD40-90 35 ~ 40 90 | 45 | 76 | 45 | 12 | 30 | M12x20 M6 3.9
I
. Direct-mounting (Direct-mounting type on the machine table)
o
o - -
zs Dovetail clamping type
=F
g =N 23 A Angular cutter
8 ‘L,, — For more information, please contact MST.
- 140 $80 “Iw tc \
— . ENote
T - HOption _ ® Dovetail grooving of the work-piece clamp-
Hi ® Mounting plate ing area using an angular cutter is required
10 H HStd access. prior to machining. After machining, cut off
F140380-DOC50-55 eMounting boltx4pcs. (DOC100) the dovetail of the work-piece.
- -
CODE | H ‘ H1 ¢C ‘ w ‘ CODE | H | Hi ¢C w ‘
F140S80-DOC17.5-60 | 60 | 45| 2 | 30| 17.5| 25 F140S80-DOC 50-55 (55|40 | 5| 70| 50 |34
-DOC25 -60 3 40| 25 | 2.6 -DOC 70-55 100 70 |4.7
" -DOC35 -55 | 55 | 40 50| 35 | 2.8 -DOC100-55 10 1140|100 |55
£5
= .
§-% Flange clamping type
=il

‘ Wire EDM fixture ‘ Maintenance Tool ‘

Technical
Information

[0}
o

|
|

L
l‘ F140S80-FP85-50

F140S80-FP 63-50 2 |50 |35 |12 63| 32 |[M4x 6| 50 |M5thru | 5.5thru| — — — |25%8%% | M4 | 2.6
-FP 85-50 13 85| 50 [M5X% 8| 73 |M6thru | 6.6 thru 4079%: | M6 | 3.1
-FP110-70 1 70 | 55 110 M6x9 95 [M8thru| 9 thru 3.7
-FP130-75 2 | 75| 60 | 17 |130| 85 |[M8%x12| 115 |M8thru |9 thru| — — — |70%88% | M8 | 5.5
HOption . } .
® Mounting plate @ Positioner boss—>P.79 e Adapter—P.79 The mounting plate is required. 25 4.M10 PC.D160
Also, we can make a custom design mounting plate. 1 —
-
CODE 200 | 680 F-H—-
F200H80-MP140-25 4.3

HStd access.

eMounting boltx4pcs.

-.MST



The Automatic Clamping Head (Automatic exchange)

The hydraulic clamping design allows you to interchange work-pieces automatically, and makes it

possible for you to combine your machining centers with robots to create a fully-automated system.

A f ENote
Interface ‘ (f:(l)i?ep(::% Mv:()e(lglf?:(d:;g ® Hydraulic pressure : 3.5MPa
F70S45 -A40 - 64 HsK-A40 64| 70| 35 6 50 1.1
F100S65 -A63 - 89 HSK-AB3 89100 | 50 | 24 140 3.1
F140S100-A100-139 Hsk-A100 | 139|140 | 80 55 640 9.7

The mounting plate is required.

The Automatic
Clamping Head ﬁ eThe mounting plate is an adapter for
— ] installation on the machine table and
- for connecting the hydraulic and pneumatic
lines.

Mounting plate IE_I o Please provide us with a detailed drawing
of your machine table and the plumbing
drawing of your hydraulic and pneumatic

Machine table m] lines. We can design and produce an
exclusive mounting block, so please contact
us for more information.

;zFu“Iy-automatedsystemm

:We can provnde -he followm ltems to autqmate y_our system

Hydraulic + Air (2 channels each):

-.MST

ANGLE HEAD ‘

M/C Tool

General Purpose | HSK-T Tooling Systems
for Turning Mill

Measuring

‘ Wire EDM fixture ‘ Maintenance Tool ‘

Technical

81

Tool

Equipment

Information





